ANTB850E IB 03

AMPLIFIED

OUTDOOR/ATTIC HD ANTENNA
INSTALLATION GUIDE

What'’s in the package?

(1) UHF element (1) Antenna bracket (1) UHF/VHF combo box (1) 16ft coaxial cable

(1) Mast
(6) VHF element pieces
L D
@ L D
o o [ 1
L |
D
(1) Mounting base v H
()Hardwatrebag - — — — — — — — — — — — — — — — — — — 7
| (5) M4x12 screws  (4) 1/4"x20 mounting screws  (2) 1/4"x20 screws (2) Wing Nuts (1) Clamp |
| IRRAR @:::W@L/W ez B |
(1) M4x25 screw &=
| i (2) Hex Nuts © © I
L e e e e e 4

BEFORE YOU START!!!
Please read the IMPORTANT SAFETY INFORMATION sheet included in this package.
FCC Statement

This device complies with part 15 of the FCC Rules. Operation is subject to the following two conditions: (1) This device may not cause harmful interference, and (2) this device
must accept any interference received, including interference that may cause undesired operation.

This equipment has been tested and found to comply with the limits for a Class B Digital Device, pursuant to Part 15 of the FCC Rules. These limits are designed to this
equipment generates, uses, and can radiate radio frequency energy and, if not installed and used in accordance with the instructions, may cause harmful interference to
radio communications. However, there is no guarantee that interference will not occur in a particular installation. If this equipment does cause harmful interference to radio
or television reception, which can be determined by turning the radio or television off and on, the user is encouraged to try to correct interference by one or more of the
following measures:

« Reorient or relocate the receiving antenna.

« Increase the separation between the equipment and receiver.

« Connect the equipment into an outlet on another circuit.

« Consult the dealer or an experienced radio/TV technician for help.

Caution: Any changes or modifications not expressly approved by the party responsible for compliance could void the user’s authority to operate this equipment.

Industry Canada Regulatory Information
CAN ICES-3 (B)/NMB-3 (B)

Avis d’Industrie Canada
CAN ICES-3 (B)/NMB-3 (B)



m Assemble the antenna.

Use the RCA Signal Finder App to find the best
location for your antenna. (Optional)

In the Google Play or Apple App Stores, search for “RCA Signal Finder” and
look for the icon shown here. Then download and install the App.

Launch the App and follow the directions there to find the best location and

orientation for your antenna.

A. Attach the antenna bracket to the UHF element.

UHF element, back

Antenna bracket, front

M4x12 screws

Find the F-connectors on the
back of the UHF element and
front of the antenna bracket, as
shown here.

Insert the bracket’s bottom
connector into the UHF element’s
connector.

Insert 3 M4x12 screws into the
slots on the back of the bracket,
as shown here. Make sure the
slots are aligned with the holes
on the UHF element.

Screw the M4x12 screws into
place to secure the bracket to
the UHF element.

Pieces Used:

UHF element

Antenna
bracket

(3) M4x12 screws

It
|

(1) M4x25 screw

i



M4x25 screw

T

Insert the 1 M4x25 screw into the slot on the back of

the bracket, as shown here.

Screw the M4x25 screw into place to secure the

bracket to the UHF element.

B. Attach the UHF/VHF combo box to the antenna

bracket.

UHF/VHF combo box, back

UHF element +
bracket, front

Antenna bracket, back

M4Xx12 screws

Find the F-connectors on the back
of the UHF/VHF combo box and
the front of the antenna bracket, as
shown here.

Insert the combo box’s connector
into the antenna bracket’s
connector.

IMPORTANT: Make sure to place
the coaxial cable lead from the
combo box between the UHF
element and bracket.

Insert 2 M4x12 screws into the
slots on the back of the bracket, as
shown here. Make sure the slots
are aligned with the holes on the
combo box.

Screw the M4x12 screws into place
to secure the combo box to the
antenna bracket.

Pieces Used:

UHF element

+ bracket

00
T

UHF/VHF
combo box

(2) M4x12
screws

I



m Assemble the antenna (continued).

C. Connect the VHF dipoles to the UHF/VHF
combo box.

Combo box,

front Combo box,

side

Long rounded-end VHF element piece
&I D

Find the two longer VHF element pieces with
\\ | X/ rounded ends. Insert the hollow end of one of these
VHF element pieces into the bottom hole on one
side of the combo box until it contacts the screw
threads inside this hole. Then screw this element
tightly into place.

|

Repeat with the second longer rounded-end VHF
element piece on the other side of the combo box.

Combo box, Combo box,
front side

Long hollow-end VHF element piece
]

s

T

-,
\J

) Find the two long hollow-end VHF element pieces.
\ ] X/ Insert one end of each piece into the top holes on
either side of the combo box. Once the hollow end
contacts the screw threads inside this hole, screw
the element tightly into place. Then repeat with the
other long hollow-end VHF element piece.

L—

|

4 )

Combo box, front Vd
«-

Pieces Used:
UHF Element

+ Bracket +
Combo Box

W b

(6) VHF element
pieces

Short rounded-end VHF element piece

D

D

U] [N /‘ The two remaining VHF element pieces should have
one rounded end and be slightly shorter than the
other rounded-end pieces.

1

Screw the threaded end of one of these VHF
R element pieces into one of the installed hollow-end
VHF elements.

Repeat with the other remaining VHF element piece
on the other side of the combo box.




E Mount the antenna.

A. Mount the mounting base.

Find the four mounting screws included in this
package. Using these screws, attach the base to
the surface as shown here.

WARNING: Never hang anything from this antenna; never attach foreign
objects to this antenna.

NOTE: In most cases, this antenna provides the best performance when
mounted outdoors in a high location (such as on the roof or high up on the
side of your house). This antenna can also be mounted in an attic.

B. Secure the mast to the mounting base.

Insert the mast into the middle of the
mounting base as illustrated here. Then insert
one of the 1/4"x20 mounting bolts through
the bottom hole on the side of the mounting
base and mast as shown. Screw one of the
hex nuts onto the end of the bolt to hold the
mast and base together. Don’t tighten the nut
completely yet.

Insert the other 1/4"x20 mounting bolt through
the slot on the side of the mounting base and
mast as shown. Screw the second hex nuts
onto the end of the second bolt.

Position the mast so that it's perpendicular to
the ground (plumb). Then tighten the two hex
nuts to hold the mast in this position.

Pieces Used:

(1) Mounting
base

(4) 1/4”x20
mounting
screws

g
g

g
g

Pieces Used:
(1) Mast

(2) 1/4"x20
mounting bolts

I

(2) Hex nuts
o)



m Mount the antenna (continued).

C. Secure the antenna to the mast.

Antenna
bracket, back

Antenna

Place the mounting bolts
attached to the back of the

of the mounting mast.

Place the clamp over the
ends of the mounting bolts as
shown here.

Screw the wing nuts onto the
ends of the mounting bolts.
Tighten them so the clamp
holds the antenna on the
mast securely.

Connect one end of the included
coaxial cable to the antenna lead (if
you heed a longer length of cable,
you can use your own RG6 coaxial
cable).

Once you've tightened the cable
onto the lead, lower the rain boot
over the connection to protect it
from water.

Connect the other end of the
coaxial cable to the ANT jack on the
supplied amplifier insert.

antenna bracket on either side

Pieces Used:

(1) Clamp

Pieces Used:

(1) 16ft coaxial
cable

(1) Amplifier
insert

.



Water Damage Prevention:

At the point where your coaxial cable lead enters the house, you should allow for some slack in the coaxial
cable as a “drip loop.” This will prevent moisture from running down the coaxial cable and entering the

house.

Run the coaxial cable approximately six inches below the wall entry point and then turn it upwards
towards this spot. Any moisture that accumulates on the coaxial cable will drip off in the bend instead

of running into the house. You should seal the point where the cable enters your home with a rubber
weather insulator or silicone caulking (not included). An “F” connector wall plate can be used inside the
home to cover the inside portion of the hole. You can typically find an “F” connector wall plate at any local

electronics or hardware store.

Connect the built-in coaxial cable on the amplifier
insert to the antenna input jack on your TV or converter
box.

Note: If you want to split the signal coming from the
antenna, connect the short coaxial cable built into the
amplifier insert to your splitter (splitter sold separately).
DO NOT PUT THE SIGNAL SPLITTER BETWEEN THE
AMPLIFIER INSERT AND THE ANTENNA.

After all other connections are made, connect the
power adapter into the amplifier insert. Plug it into a
standard AC outlet.

Important: This power adapter should be plugged in so
that it stays vertical or lays flat.

The amplifier insert should always be located indoors.

TIP: The amplifier has a switch that lets

you adjust the amount of ampilification 2548 Liods
applied for different TV signals. The 10dB

position is recommended for most situations. Try the
25dB for weaker signals.

E Scan for channels on your TV.

Most TVs have a channel scan option in their menu system, many times in a SETUP or CHANNEL
menu under ANTENNA. For detailed instructions on performing a channel scan, see the owner’s

manual that came with your TV.



12 Month Limited Warranty

Voxx Accessories Corporation (the “Company”) warrants to the original retail purchaser of this product that should this product
or any part thereof, under normal use and conditions, be proven defective in material or workmanship within 12 months from
the date of original purchase, such defect(s) will be repaired or replaced with new or reconditioned product (at the Company’s
option) without charge for parts and repair labor.

To obtain repair or replacement within the terms of the warranty, the product is to be delivered with proof of warranty
coverage (e.g. dated bill of sale), specification of defect(s), transportation prepaid, to an approved warranty station. For the
location of the nearest warranty station to you, call toll-free to our control office: 1-800-645-4994.

This Warranty is not transferable and does not cover product purchased, serviced or used outside the United States or Canada.
The Warranty does not extend to the elimination of externally generated static or noise. This Warranty does not apply to

costs incurred for installation, removal or reinstallation of the product, or, if in the Company’s opinion, the product has been
damaged through acts of nature, alteration, improper installation, mishandling, misuse, neglect, or accident. This Warranty
does not cover damage caused by an AC adapter not provided with the product.

THE EXTENT OF THE COMPANY’S LIABILITY UNDER THIS WARRANTY IS LIMITED TO THE REPAIR OR REPLACEMENT
PROVIDED ABOVE AND, IN NO EVENT, SHALL THE COMPANY'’S LIABILITY EXCEED THE PURCHASE PRICE PAID BY
PURCHASER FOR THE PRODUCT.

This Warranty is in lieu of all other express warranties or liabilities. ANY IMPLIED WARRANTIES, INCLUDING ANY IMPLIED
WARRANTY OF MERCHANTABILITY OR FITNESS FOR A PARTICULAR PURPOSE, SHALL BE LIMITED TO DURATION OF THIS
WARRANTY. ANY ACTION FOR BREACH OF ANY WARRANTY HEREUNDER, INCLUDING ANY IMPLIED WARRANTY, MUST BE
BROUGHT WITHIN A PERIOD OF 24 MONTHS FROM THE DATE OF ORIGINAL PURCHASE. IN NO CASE SHALL THE COMPANY
BE LIABLE FOR ANY CONSEQUENTIAL OR INCIDENTAL DAMAGES WHATSOEVER. No person or representative is authorized to
assume for the Company any liability other than expressed herein in connection with the sale of this product.

Some states/provinces do not allow limitations on how long an implied warranty lasts or the exclusion or limitation of
incidental or consequential damage so the above limitations or exclusions may not apply to you. This Warranty gives you
specific legal rights and you may also have other rights which vary from state/province to state/province.

&



‘soyoalap

S0.30 ap sewape Jeyniysip apand ‘elduinoid /ope)ss |9 unbes ‘sodlyidadsa sajeba] soydaiap 2191juod 9| eljuRIED B}ST "OSED NS
us uanbijde ou saiolBlUE SBUOISN|OXd O Sauolde}iWl| Se| anb 8|gisod sa anb opow ap ‘sajuabisaws o sa|ejuUsPIdUl SoUep ap
uoloe}WI| B| O UOISN|DXa e| o eyd)|dwi ejjueleb eun ap uoideINp B] 81qos sauolde}iwi| usjwiad ou seiduinoid /sopelse sounbly

‘03onpo.d 33s8 ap BIUSA B] UOD UQIXSUOD US Inbe epesaldxa e| oAjes pepljigesuodsal eunbulu ‘ejuedwo) e| ap aiquiou

e ‘Jlunse e opeziiolne g1sa djuejussaldal lu euosiad eunbulN ‘SITVLNIAIDNI O STLNIDHINT SONVA HOd I19VSNOdSIY
Yd3S VINVAINOD V1 OSVI NNONIN N3 TTVNIDIHO VYdHdINOD 3d VHO34 V1 3d di11dvd V S3S3IN %2 3d OdOojdad NN 3d
OYLN3IA ASYVLINISI™d YH3I93A ‘VLIDJ1dIWI VILNVIVYD d33INDTVNI OANIANTONI ‘FLNIST™d 13 NI VILNVAHVYD d43INOTVND
3d OLNIINITAINNDNI 13 VIVd NOIDDV d3INOTIVND "VILNVAVYD V1S3 3d NQIDVINA V1V SYAVLINIT NYJVLSI dv1NdlLdvd
N3 OLlISQdOdd NN Vivd avdadiligv.ildvayv O avaliigvidodawod 3d VLIDITdII VILNVYYVYD d3IN0TVND OANIANTONI
‘SYLIDITdINI SYILNVEVD VAIINDSITVND ‘sesaldxe sejjueleb o sepepljigesuodsal sesjo eisinbsajend ezejdwasai ejjueien eis3

‘010NAoyd 31S3 3 JOAVIdINOD 13 d0d OAVOVd VidINOD 3d
0O123dd 13 ¥3Ad3dX3 VINVAINOD V1 3d avalligvySNOdS3Id V1 yd3g3ad ‘'OSvD NNONIN N3 ‘A Va1V OL1SIAOYd OZV1dINF3Y
13 O NOIDVYdVd3d V1V OAVLIAIT V1S3 VILNVAVD V1S3 OCLVE VINVAINOD V1 3d avdalllgvSNOdS3d V1 3d IDNVI1V 13

‘03onpo.d [ uod opeJisiuiwns opis eAey ou anb vy ap Jopejdepe un Jod sOpeUOISEI0 Souep AN[dUl OU eljURIED B}ST "9jUSPIdde

o ejpuabi|bau ‘opigapul osh ‘osnge ‘ependapeul Ugldejelsul ‘sauoideialje ‘loAew Bziany ap sesned e opigqap souep opliins ey
ojonpoud 83s8 anb ‘ejuedwo) e| ap uoluldo sa Is ‘0 ‘03onpoId 83s8 Sp UOIdOB|E}SUISI O UOIDOWSI ‘UoIde|R)SUl B| U SOPILINDUI
S03}S02 SO| 8AN|2Ul OU ejjueien B}ST "9]USWIEUIDLIXS SOPRIBUSHB OpINJ O BII13R}SS 9P UQIdRUIWIIS B 9AN|dUl OU BJjURIED B}ST

"BpRUBD O SOPIUN SOPE)}ST SO| 8p Bian} Opezi|ijn o opluajuew ‘oplinbpe 03onpoid un aiqnd ou A s|quajsuel)} S8 ou ejjuelen eys3

766%-5%79-008-L |B :|]011U0d Sp euldljo

BJ41S8NU B 03SOD UIS SWe|| ‘Ol|IDIWOoP NS B BUBDISD Sew ejjueleb ap UQIde)}Sa e| Jedign eled ‘epedosde ejjueieh ap uoioelss eun e
‘opebedaid ajiodsueuy ‘so}o8)ap SO| ap uoldedlyioadss ‘(ejuan ap epeydaj einyoey ‘ojdwsafe sod) eipueleb ap epsiqnd ap eqanid
uod elebaljus as 01oNpo.d |9 ‘ejjueleb e3se ap soulwld] SO| dp oJusp ozejduwaal o ugldeledal 8p SOIDIAISS SO| 18US}CO eled

‘uoioesedal ap saioqe| A sezaid se| Jod ounbje obied uis (eluedwo) e| ap uoiddo e) opeAousal 0 oAshu o3onpoud

un uod sopeze|dwaal o sopeledal ueias s0}daj9p sa|e} ‘|eulblio eidwod ap eyday e| ap Jijied e sasaw g| soidwiid so| ap osjusp
©1q0 9P OueW Bp O Sa|eld}eW S03a48p ejuasald ezalid eunbje o o3onpoud 83se anb eiesjuosus as ‘sajewiou osn A sBUOIdIPUOD
ofeq ‘Is eanb o3onpoid a3se ap |eulblio Jopeidwod |9 ‘paish e ezijueseb 9| (.eluedwo), e[) uoljelodio) S110SSSIOY XXOA

S9Sa ZL 9P epe)wi] eljuelien



‘AL |2 UOD opin|aul ollelaidold |ap [enUBW |8 93|NSUOD ‘sajeued ap epanbsnq

BUN Oged e JeAd|| OWOQD 91gO0S Sepe||e1dp SaU0IdONJSUl 18ua}go eied (WVNNILNY) euajue ap ugiduny
e| ofeq (TINNVHD) sajeued ap e3sl| 0 (dNL13IS) UQIdeINBIJUOD P NUSW UN OWOD 3jUdWajuandaly
‘SpUBW Bp BLWIS)SIS |9 Ud sajeued Jedsnq eied ugIddo eun UaUal} S8I0SINS|8) 9p elioAew e

‘AL NS Ud sajeued anbsng E

's9|Ig9p

sew sajeuas se| eled gpgz uoldisod e| ajualu|
‘sauoloenyis se| ap elioAew e| us gpoL uoidisod g|
lesn epusiwodal 8S ‘AL Sp SO|euss sajualalip se|

eljed epedijde uoioeoyljdwe ap pepiyued

80l -8pPSe e| Jeysnle aywiad 8] anb Jojdniiaiul
—— un auaj} Jopesyiidwe |3 :0raSNOI

‘saloliaju] soldedsa
ua asJe|ejsul agap aidwals Jopedyyijdwe eied oyasul |3

‘Ope}S0294 O |edIMSA
uoloisod ua eozauewuad anb elsauew ap asiejnydsus
9gop 9jusl410d ap Jopelrdepe o357 :o3uepodu|

"lepue}sa

VD p 9jUaLlI02BeWO] UNn Ud o[ajnysug "Jopesyyljdwe
eied 0348sUl | US 93UB1II0D Bp Jopejdepe |2 93038U0d
‘SBUOIXaU0D SeWap se| sepoy Jadey ap sendsaq

"VNILNV

V1 A d40AVvIIdITdINY Vavd OL¥3SNI 13 3YLNI TVYN3S
3a YOSIAIA 13 INDOTOD ON ‘“(opeledas jod apuaa

9S 9159) J0SIAIP |© ud Jopedijljldwe eied oypasul |9

us opeubajul 0310d |BIXEOD B|ged |9 9129U0D ‘eudjue

e| 9p ajusiusnoid |euss e| JIPIAIP BOSSP IS :0SIAY

‘eJopI3JoAu0d efed o AL
NS ap eUdjUE SP BPEIIUS BP 10}08U0D [ Ud Jopedyyijdwe
eied ojiasul [9p opelbajul [eIXeOoD 8|ged |9 8108U0)

NI
VYNNILNY

'SO2IUQJ}D3|D

SO}oe}9}ie Sp Sepusdl} O SBlI9}S4IS9) UD USPUSA S 4 10309U0d Uod paled ap seoe|d se| ‘ajuswjessuan ‘oialhbe
[op Jol493ul uoiduod e| Jedey eied esed e| op 043usp 4 10308U0D UOD paJed ap ese|d eun Jesn apand ‘esed

e| e 9|ged |[9p osalbul op ojund | Je||as esed (8An|oul 8s Ou) 093lejR|eD BP BUOII|IS O djueZ||Igeswiadw]
oysned Jesh epuaiwodal 85 "Besed e| Sp Jol4a3ul |9 eloey a|ged |9 Jod JezueAe sp Jebn| us a|onq |9p ofeq
ojund |8 us eiea106 |eIXROD 3|ged |9 Ud d|jnWwnok 8s anb pepawny epo] ‘ojund ass eldey eqiiie eldey
o|a|qop oban| A paied e| us osaibul ap ojund |9p ofeqgap Jod sepebind 9 seun e |eIxeod a|ged |9 epusll

‘esed g| Us GSSJBU!

@ |eIxeod a|qed |2 J1od afeq pepawny e| anb apidwi as ojj@ uo) *,09306 ap a|oNg, un awioy} as anb esed
|eIxeod a|ged |2 ua einbjoy ap o020d un asiiiwiad agap ‘esed e| e BJjUS |eIXROD d|ged |2 apuop ojund |8 ug

:enbe |2 10d opeshed ouep |3 1}AS OWOD



(g

Jopeoyjiidwe
eljed oyiasu| (1)

ns Jezjji3n apand ‘pnybuo| 1oAew

‘opeJysiujuns

Jopesylidwe eied opasul |9p
LNV 10309U0D |8 U8 |e|xeod a|ged
|Sp OWwa1}Xd 0430 |8 8}08U0)

‘enbe | esyuod eliabajyoud
eJed UQIXauod e| 81qos elIAN|[IjuE

epuny | 921|S8p ‘40}ONPUOD | 81qO0S eudjue
a|geo |@ opejaide eAey anb zan eun

*(90Y |e1xeod a|qed oidoud

ap 9|ged un e}ISaJaU Is) euajue
8p 1032NpPUOd [e OpIN|DUl [BIXROD

1039npuod

op

8]ged |ap OWaJ}Xd Un 8323U0D

|e1xeod a|qe) (1)
:sepezyin
sezald

‘|l3Sew |@ us eusjue e|
ajuswawly 918lns eiapezeiqe
e| anb esed sejoio1idy
‘afejuow ap sousad so| op
sowia3x® so| ua esodiiew

ap seduan) se| anbsoiug

‘Inbe

eJ}sanw s unbos ‘efejuow
9p souJad so| 8p SOWSIIXd SO|
2iqos euspezeiqge e| eanbojo)

‘afejuow ap |13sew [9p sope|

so| p eJainbjend ua eusjue

e| ap ayodos |9p Jousisod

! a1ed e e sopeliy afeyuow

esodiiew sp op soultad so| enbojo)
seoian] (2)

elspezeiqyv (1)

:sepezy|in
sezald

euU3jue E|
9p afejuow
ap soutad

\ \II <\
\ ‘f' . ‘

‘lllsew |9 ua euajue e afi4 *D

eua;u e| op 9y4odos
|op Jouid3sod ayied

‘(uoidenuijuod) euajue e] JUOIN E



©e
sajeuobexay
sedJan] (7)

I

0z x ‘B|nd
%/ op afejuow
ap soudad (2)

1nsew (1)
:sepezj|in
sezald

@Mfff—i@
&MM

W@
MM@

0z x "Bind
%/1 op afejuow
8p sO||1ui0} (¥)

alejuow
op osegq (1)
‘sepez||in
sezald

‘uoldisod e3yse us
|1l3sew |8 Jefl esed ssjeuobexay sediany sop se|
91a1ude obanT *(jed1348A) ojans |e Jejnoipuadiad

apanb anb eisuew ap |13sew |o 83snly

‘outad opunbas |9p owalIxd |9 us |euobexay
ed2J9n} epunbas e onbsoiug ‘esysanw os
unbos ‘|l3sew |op saAeld} e A sfejuow ap aseq
e| 9p |eldle| BANUERI B] BP S9AeI)} B OZ X ‘BInd

v /1 8p afejuow sp oulad o4}0 |© 8MSSU|

‘eIARPO] 9juswe}a|dwod

eaJan) e| a1alide oN ‘sojunf aseq e| A [11sewl

|2 Je1alns eied oulad |ap owaiixd |9 Ud
sajeuobexay sediany se| ap eun a||IUI0IY
‘eJ3sanw s unbes ‘j13sew [op A sfejuow ap
aseq e| ap |ela1e| J01I8jul OIDIJIIO [P SARI] B
0z X *6Ind 4/ ap alejuow ap sousad so| ap oun
amMasul oban ‘Inbe esysnjl 8s owod afejuow
Sp aseq e| ap 043U |d US |I}SBW |9 9HaSU|

'6[8'.]UOU.I op 9seq e| uso |ijseul |9 9[!:] ‘a

"'sO2lje Ua asJe|ejsul apand uaiquie} euajue e3s3 "(esed ns ap |edaje| un
ap ejje ayed e| o opela) [ U OWOD |B}) SOPRAS|D S8101193Xd saiebn| us ejejsul
8s opuend Jofaw BUOIDUN) BUSJUE RS ‘SOSED SO| ap elloABW B| U3 :OSIAV

‘eusjue
B1S9 Ud souellxa so3alqo ajuow U epeu anbjand esunp vIDNILYIAAY

‘Inbe eJ3sanw 8s owod ‘a1diyiadns | ua
aseq e| all} ‘so||@ uo) ‘a3anbed a3sa ua sopinjoul
afejuow ap so||iuio} o43end so| anbiylyuap

'a[ewow op ose(q e| 9|eljsu] ‘v

‘eUa)jUe k| 9jejsu| E



‘epeulquiod efed e| ap ope| 0410 |2 Ud
2juelsal {HA ojuswWa|d ap ezald eujo e| U0 rHdaY
‘Ssope|ejsul 023Ny Owa}Xd Uod 2

4HA ©p SOju8Wa|d SO| 8P OUN Ud 4HA OjUBWS|S Bp
sezald se}se ap eUN ap OpPEISOJ OWBIIXD | 3||IUI0IV

‘opeapuopal owa4}xa Uod sezald sedjo se| anb
se110D sew obje 1as A opeapuopal OWa4IXa un Jaua) TS 1\
uagap 4HA OjuUswWa|e ap sajue)sal sezaid sop seq ( )

a

a [
opeapuopal owai}xa - \ y
uod 4HA OjuUSW3|d dBp IO BZ3ld epeuiquod efed

e| 9p Jolidjue aped
0J3USp O]|IuI0} P SBISOJ Se| Uod 0}0e3U0D ebey
029Ny owal}xad |@ ahb zaA eun "epeuiquiod efed e|
8p sope| so| 8p oun ua saiolladns soId1}1I0 SO| Ud TN ] T\ \
ezald eped 9p OWBIIXd UNn 8}48SU| 028Ny OWIIXd )
uod 4HA ojuawa|d ap sebue| sezald sop se| anbiqn

029Ny OWdJ}Xd UOD JHA OJusW9|d
op ebie| ezaid epunbas e] uod eyday ‘uoidisod us
9jusWwBaWIl} OJUBWS|S | 3)[IUI0}. ‘OID1110 81SD ap

> )

a

[ ] =)
093Ny OW3431Xd UOD 4HA OjluUsWd|d ap ebie| ezaid

a4

J

epeuiqwod efed e|

epeuiquod
ap Jolajue ayjied

ek efed e| ap ope1
4HA Ojuaws|e
8p sezald (9)

‘epeuIquiod
efed e| op ope| 0410 |@ US Ope3PUOPSI OWBIIXD UOD
4HA ojuawsa|e ap ebie| ezald epunbas e| U0 e)day
‘uoldisod us ¢
2jusWaWIl) OJUBWIBIS 931SD d[IUloje obanT "oId141I0
[P ©J3U3p O][IUI0} Bp SBISOI Se| UOD 030e3U0D ebey
anb ejsey epeuiquiod efes e| ap ope| un ua Jolajul
OID1J140 |@ U3 JHA OjUaWa|d ap sezald sejsa ap eun
L 8P 029Ny OWIIXd | 8148SU| "OpeapuUOpPal OWIDIIXD [ N | [ \\
uod 4HA ojuawa|d ap sebue| sezald sop se| anbiqn
TRT T\
a |9
opeapuopal owaxa
uod JHA OjuawWa|d ap ebie| ezaid
epeuiqwod efed epeuiquod <)
+ 9podos + efed e| ap opeT e a:ﬁil:jg;uugl:{::
4HN cjuswa|3 !
:sepez||in ‘4HA/4dHN epeuiquod
sezald

efed e] ua JHA ap sojodip so| 8393u0) *D

‘(uoidenuijuod) euajue e] JUOIN m



i1

XYW
soj|1uio} (2)

dHA/4HN
epeuiquiod efe)

L
Uel

a110dos +
4HN ojusws|3
‘sepez||in
sezald

‘eusjue

e| p 9yodos |9 us epeulquiod
efleo e| sefiy esed uoidisod us
CLXYIAl SO||IUJ0] SO| 9[|luiolY

‘epeulquiod efed e us soIdIylIo
SO| UOD sepeaul|e U9lsa sednuel
se| enb asainbasy ‘Inbe eijsanwi
S owod ‘ajiodos |9p Jolieysod
ayed e| ua sepeoign seinuel

Se| Ud ZIX¥|Al SO|[lUJ0} Z 9}asu|

‘ap1o0dos

1 A 4HN ojuswW|d [ dJuUd
epeuiquiod efed e| ap |eIXeod
a|ged |9p 1039NPUOD | 1820|0D
ap asainbasy :3INVIHOdII

‘eusjue e| ap aj10dos
[P 10398U0D [ U EpRUIqWIOD
efes e| ap 10328U0D @ d}3sU|

‘Inbe eJ3senw as owod

‘euajue e| ap aj4odos |op Joudjue
aued e| us A JHA/4HN epeulquod
efed e| ap Jouslsod ayied e| us

4 $9403108U0D so| anbiyluap|

‘JHN Ol1uswWg|d |8 ua ayodos

|2 Jefij esed ugldIsod U GZXYIA O]|1UIO} | B||IUIOIY

‘Inbe e13senw as owod ‘e@yiodos |ap Jolsysod aped
B| US epedigh einuel B| Ud §ZXy|A O][IUJO} [© 9349SU]|

CLX¥IN sojjluio]

dHA/4HN epeuiquod
efes e| ap Jo119)sod ajied

L

C D

SCXY o[Jiuiol

euajue e| ap ayiodos
|op Jold)sod ayed

aylodos

+ 4dHN ojuawa|a

|op Joliajue ayied

‘eUdUR B] 3P
a14odos |3 ua 4HA/4HN epeuiqwod efed e afid °g

J




l

SZTXYIN O|jiui0y (1)

1
I

ZIXYIN
soj|iuio} ()

euUdUE B
op ayodos

]
]

dHN ojusws|3

:sepezy|in
sezald

(jeuoiodQ) ‘euajue ns eied uoioediqn Jofaw e|
Jeujwialap keied Iapuld [eubis yOy uoloeoijde e| asn

‘4JHN ojudWd|S
| us ayodos |8 Jeliy esed uoidisod
Us ZIXYIAl SO||Iul0} SO| 9[|IUi0}Y

‘JHN OjlUSWS|3 | Ud SOIdIJ1I0

SO| UOD sepeaul|e U9lsa seinuel
se| onb asainbosy ‘Inbe eijsanwi
©s owod ‘ayodos |ap Jolsysod
ayed e| us sepeoign seinuel

Se| Ud ZLX¥|Al SO|[lUJO} ¢ 9}asU|

‘"4HN ojuawa|d
[@p 10328U0D |8 Ud ayiodos |ap
10148jUl 103}28U0D |2 9}43sU|

‘Inbe

BJ}S9NW 8S OWOD ‘euajue e| ap
ayodos |ap Jousjue aped ejus A
4HN ojlusws|9 |9p Joliaysod ayied
B| US 4 $940108U0D sO| anbyijiusp]

‘JHN OjUSWI3| |® Ud eudjue k] ap ayiodos |a afid 'V

‘euajue e| 9aJUoN E

‘euajue ns eled uoioejuslio A
ugloesign Jofaw e| Jeuiwialap eded sauoidonJisul se| ebis A ugioedijde e| aldiu|

‘uoloeol|de e| a|ejsul © anbiedsap obanT ‘edysanw as Inbe anb
ouod| |8 A iopul4 |eubis VoY, @nbsnq ‘ddy a|ddy o Ae|d 8|6009 sepualj se| ug

i

CLXY A sojjluiolL

euajue e| ap ayodos
|op Jola@)sod ayied

4HN ojudwWa|d
|op Jouajsod ayjied

euajue e| ap ayiodos
|op Joliajue ayled




(8) £-9INN/(8) £-S3DI NVD

epeue) sp el3snpu| sp eAljeuwliou uojdewlojuj

‘odinba 83s8 Jezijin

eJjed ouensn [9p pepliojne e| Jejnue uelpod ojusiwiidwnd |9 eied sjgesuodsai syled e| Jod sjuswesaidxs sopeqolde ou SSUOIDEDIPOW O Solquied elainbsajend :uoldUalY
‘BIoUS)SISE J8}I01|0S Bled UQISIAS|S} O Olpes P opejuswLIadxe 031Ud9) UN B O JOPINGLIISIP UN B 83]NSU0) -

*0}IN2JID 0430 US 9jual4IodeW o) un e odinbs |9 8328U0) -

r103dadsai |8 A odinbs |8 aijus ugioeiedss e| sjuswiny -

‘elojdadal eusjue e| Jebn| ap SIquIED O JBJUSLIO B BA[SNA -

:sojusiwipadoid

sajuaInbis SO| 8p SOlIBA O oun Sjueipaw elli6a1102 ajuajul ‘odinba | opusipuasus A opuebede senbuane spand anb o] ‘uoising|e} o oipes ap uoiddadsal e esed |edipnfiad
e|pualayiajul esned odinba ns IS “iejnoijied us UQIde[EISUl BUN US BIDUSISI9jUl BAIDNPOId 85 OU anb ezijueieb as ou ‘obiequus UIS ‘sauoidesjunwodolpel se| esed |edipnfiad
e|ouaJai9jul Jessush spand ‘sauoIddONIISUl SBISS UOD OpJande ap ezi|iin A ejejsul 8s ou Is ‘A e1susndaljolpel op elbisus Jeipes spand A eziin ‘essush odinbs 83s3 'DD4 e|
9p sewlou se| ap G| d1ed | ap sauoldedlIdadsa se| U0 opisnde ap ‘g ase|D ap sa|eybip sojesede so| op sajiwl| SO] U0 |dwind A seqanid e opl3awos opis ey odinbs 8353
‘opeasap ou ojuSIWEeUOoIdUNY UN Jesned elipod anb ejjenbe epin|aul ‘epiqidal eIdusiaijul epo) Jeydade agep oAlIsodsip 9318 (Z) A eAIDOU eldusISISUI

Jesnes agap ou oAnIsodsip 8353 (1) :$93uaInbBIs SBUOIDIPUOD SOP Se| e 033[Ns 1SS OjUSIWEBUOIdUNY NS "DD4 B| 9P Sewou se| ap gL 8)ed e| uod ajdwnd oAlisodsip 8353
(‘NN°33 op sauolded1unwWo) ap |elapa4 UoIsiwod) D4 e| ap uoideie|paq

"'anbedws 83s8 ua epin|oul AvaAldNO3S 3d ILNVLIHOdINI NOIDVINHOANI op efoy e| ea

IHIAVZNIINOD 3d STLNV!!!

@ @ sojeuobexay seatan] (7) l
e e wm—8 " T g SZXYIA Oll1ui0} (1)

esodiiew 0z x *BInd v/| 0z x *BInd 4/| ap 111l

| esopezeiqv () ©OPsSeddNL(Z)  sp sopuioy (7) alejuow ap so[|1UlI0] (¥) ZLXyIN so|iuioy () |
L - - - - - - - - - - - - - - — — — _— sofemayoapesjog(l)

B —
[ lopesyjiidwe esed opasuj (L)
a
a

a ]

a 1
4HA 0juaW>3|3 3p sezald (9)

Insewn (1)

]

said 9| ap |eixeod a|qed (L) dHA/4HN euajue e| ap apodos (L) dHN ojuaw9|3 (1)
epeuiquod efe) (1)

¢919nbed |@ aAn|oul anD?

NOIDV1VLSNI 3d VIND
vavoldildinNv

SOOJIlY O SFUOIYILXT ViVd dH VNILNV

€0 91 30S8LNV






